2015秋季专升本公共英语模拟卷
选择题（40题 共120分）
1、The police were given an order that the stolen documents must be recovered at all _____. 

A.
accounts 

B.
conditions 

C.
payments 

D.
costs 

2、Thank you for applying for a position with our firm. We do not have any openings at this time, but we shall keep your application on _______ for two months. 

A.
pile 

B.
fill 

C.
pill 

D.
file 

3、I saw a ______ good film on TV last night. 

A.
fair 

B.
pretty 

C.
handsome 

D.
pleasing 

4、I gave John a present but he gave me nothing _____. 

A.
in return 

B.
in turn 

C.
in advance 

D.
in vain 

5、This new instrument is far superior _____ the old one we bought three years ago. 

A.
than 

B.
to 

C.
over 

D.
of 

6、 Nowadays advertising costs are no longer in reasonable _______ to the total cost of the product. 

A.
proportion 

B.
correlation 

C.
connection 

D.
correspondence 

7、Mr. Wilson said that he did not want to _______ any further responsibilities. 

A.
take on 

B.
get on 

C.
put up 

D.
look up 

8、It is not that I do not like plays. The reason why I did not go to the theater last night was that I could not ________ the time. 

A.
offer 

B.
leave 

C.
afford 

D.
manage 

9、Since it is such a sunny day, we might _______ to the suburb for a picnic. 

A.
as well as go 

B.
as well as to go 

C.
as well go 

D.
as well to go 

10、I can _______ some noise while I'm studying, but I can't stand loud noises. 

A.
come up with 

B.
catch up with 

C.
put up with 

D.
keep up with 

11、Everyone in street must ______traffic rules. 

A.
observe 

B.
serve 

C.
accept 

D.
watch 

12、It was difficult to guess what her _______ to the news would be. 

A.
reaction 

B.
impression 

C.
comment 

D.
opinion 

13、In Britain, the best season of the year is probably _____ spring. 

A.
later 

B.
last 

C.
latter 

D.
late 

14、I _______ with thanks the help of my colleagues in the preparation of this new column. 

A.
express 

B.
confess 

C.
clarify 

D.
acknowledge 

15、I _______ them to go by train, but they went by bus after all. 

A.
proposed 

B.
mentioned 

C.
suggested 

D.
advised 

16、I _______ this book in a secondhand bookstore on Nanjing Road. 

A.
came into 

B.
came for 

C.
came out 

D.
came across 

17、This hotel _______ $60 for a single room with bath. 

A.
claims 

B.
demands 

C.
prices 

D.
charges 

18、It's _______ my power to make final decision on the matter. 

A.
off 

B.
outside 

C.
above 

D.
beyond 

19、It's hard work. I enjoy it,_______. 

A.
though 

B.
although 

C.
but 

D.
that 

20、I _______ an old schoolmate of mine in the street. 

A.
ran for 

B.
ran into 

C.
ran out 

D.
ran down 

21、I like the material. It _________ very soft. 

A.
is feeling 

B.
felt 

C.
feels 

D.
is felt 

22、She _________ China before she _________ last October. 

A.
has not visited; comes 

B.
did not visit; came 

C.
does not visit; comes 

D.
had not visited; came 

23、It is said that a new robot ____ by him in a few days. 

A.
designed 

B.
has been designed 

C.
will be designed 

D.
will have been designed 

24、________ an honest man, he never tells a lie. 

A.
Being 

B.
Be 

C.
Since 

D.
To be 

25、As we approached the work site, we saw the workers ____the new house. 

A.
building 

B.
build 

C.
built 

D.
to build 

26、When I returned home, I found the window open and something ________. 

A.
to steal 

B.
stealing 

C.
stolen 

D.
steal 

27、—“Did you enjoy the movie?” 

—“No, it was ________.” 

A.
very boring 

B.
very bored 

C.
such boring 

D.
much bored 

28、Weather _________, the picnic will be held as scheduled. 

A.
permits 

B.
should permit 

C.
will permit 

D.
permitting 

29、I appreciate _______ to your home. 

A.
to be invited 

B.
to have invited 

C.
being invited 

D.
having invited 

30、The guard at the gate insisted that everybody ___________the rules. 

A.
obeys 

B.
obey 

C.
will obey 

D.
would obey 

31、Can you imagine what the world would be like if _________ no computers? 

A.
there are 

B.
there has been 

C.
there were 

D.
we have 

32、Hurry up! Janet ______ for us at the bus stop. 

A.
must wait 

B.
must be waiting 

C.
can be waited 

D.
must have waited 

33、Neither I nor Kathy ______ fond of classic music. 

A.
am 

B.
is 

C.
are 

D.
was 

34、Mrs. Jones, accompanied by her two daughters, ______. 

A.
have arrived 

B.
are arriving 

C.
had arrived 

D.
has arrived 

35、Only under special circumstances _________ to take make-up tests. 

A.
are freshmen permitted 

B.
freshmen are permitted 

C.
permitted are freshmen 

D.
are permitted freshmen 

36、By no means _______ to our plan for the trip. 

A.
will she agree 

B.
she will agree 

C.
agrees she 

D.
will agree she 

37、Americans eat ________ as they actually need every day. 

A.
twice as much protein 

B.
protein twice as much 

C.
twice protein as much 

D.
protein as twice much  

38、Recently I bought an ancient Chinese vase, ______ was very reasonable. 

A.
which price 

B.
the price of which 

C.
its price 

D.
the price of that 

39、I don't believe they can bridge the gap, ___? 

A.
does he 

B.
can't he 

C.
doesn't he 

D.
can they 

40、I took _______ for granted that he would believe in us. 

A.
that 

B.
the thing 

C.
it 

D.
this 

阅读题（共30分）
Passage 1

Halloween（万圣节前夕） is a holiday widely celebrated with different names in many countries. Although it originated（起源） as a religious holiday, it has lost its religious connections in the United States. It is now celebrated largely as a children's day, and many American children look forward to it for days and weeks beforehand. 

  
The orange pumpkin（南瓜） is harvested at this time of year and is hollowed out, a funny face cut into it, and a candle placed inside as a decoration in the window. City folks, nowadays, sometimes use paper pumpkins for decorations. 

  
Some years ago, the holiday was celebrated by dressing up in strange and frightening costumes and playing tricks on one's neighbors and friends, such as ringing door bells, throwing bits of corn on the window panes, and in other ways making minor disturbances. 

  
More recently, children come to the door to have friends and neighbors admire their costumes and guess who they are behind the false faces and receive treats of candy, fruit or cookies. They say, “Trick or Treat", meaning, “I will play a trick on you if you do not give me a treat." This practice has even more recently developed into a significant international activity. Instead of or along with candy, the children collect money for UNICEF (United Nations International Children's Emergency Fund). This special collection of money by children for needy children throughout the world is known as “UNICEF Trick or Treat". Begun only recently, it results in several million dollars each year contributed to UNICEF. 

41、Halloween originated from _______. 

A.
a school holiday 

B.
a funny story 

C.
a religious day 

D.
a day for UNICEF

42、How did the children celebrate the Halloween some years ago? 

A.
They dressed up in the best holiday clothes. 

B.
They rang bells. 

C.
They threw stones on the windowpanes. 

D.
They dressed up strangely and play tricks on others. 

43、Which of the following is not used to celebrate Halloween? 

A.
Paper pumpkins. 

B.
Candle. 

C.
Costume. 

D.
Toy. 

44、Why do the children collect money in the Halloween? 

A.
They love to become rich. 

B.
They want to get enough money to buy themselves candy. 

C.
Their parents ask them to do that. 

D.
They want to help other children. 

45、What is the symbol of Halloween? 

A.
Pumpkin. 

B.
Fruit. 

C.
Cookie. 

D.
Money. 

Passage 2

The advantages and disadvantages of a large population have long been a subject of discussion among economists. It has been argued that the supply of good land is limited. To feed a large population, inferior land must be cultivated and the good land worked intensively. Thus, each person produces less and this means a lower average income than could be obtained with a smaller population. Other economists have argued that a large population gives more scope for specialization（分工）and the development of facilities such as ports, roads and railways, which are not likely to be built unless there is a big demand to justify them. 

One of the difficulties in carrying out a world-wide birth control program lies in the fact that official attitudes to population growth vary from country to country. That depends on the level of industrial development and the availability of food and raw materials. In the developing country where a vastly expanded population is pressing hard upon the limits of food, space and natural resources, it will be the first concern of government to place a limit on the birthrate. In the highly industrialized society the problem may be more complex. A decreasing birthrate may lead to unemployment because it results in a declining market for manufactured goods. When the pressure of population on housing declines, prices also decline and the building industry is weakened. Faced with considerations such as these, the government of a developed country may well prefer to see a slowly increasing population, rather than one which is stable or in decline. 

46、According to the passage, what is true about the advantage of a large population? 

A.
A large population will provide a chance of making full use of good land. 

B.
A large population will provide a chance of developing transport system. 

C.
A large population will provide a chance of developing education system. 

D.
A large population will provide a chance of developing national economy 

47、A small population may lead to _____. 

A.
higher productivity, but a lower average income 

B.
lower productivity, but a higher average income 

C.
lower productivity, and a lower average income 

D.
higher productivity, and a higher average income 

48、It’s not easy to carry out a general plan for birth control throughout the world because ___. 

A.
there are not only developed countries in the world, but many underdeveloped countries as well 

B.
developed countries are not in favor of the plan 

C.
different governments have different views of the question 

D.
underdeveloped countries have low level of industrial development 

49、People will perhaps go out of work if the birthrate decreases in _________. 

A.
a developing country 

B.
a developed country 

C.
a country with a large population 

D.
a country with a small population 

50、According to the passage, ________ birthrate perhaps is good for a developed country. 

A.
stable 

B.
slowly rising 

C.
decreasing 

D.
fast growing 

答案：

1 ~ 5: DDBAB   6~ 10: AACCC    11~15: AADDD   16~20: DDDAB  21~25: CDCAA   

26~30: CADCB   31~35: CBBDA    36~40: AABDC   41~45: CDDDA   46~50：BDCBB
2015秋季专升本计算机模拟卷
选择题（50题 共150分）
1、世界上的第一台电子计算机使用的逻辑元件是___________

A.
晶体管 

B.
电子管 

C.
集成电路 

D.
以上都不是 

2、下列软件中,____一定是系统软件。 

A.
自编的一个C程序，功能是求解一个一元二次方程 

B.
WINDOWS操作系统 

C.
用汇编语言编写的一个练习程序 

D.
存储有计算机基本输入输出系统的ROM芯片 

3、用一个字节表示无符号整数，能表示的最大整数是 

A.
255 

B.
无穷大 

C.
256 

D.
128 

4、ROM中的信息是______ 

A.
由计算机制造厂预先写入的 

B.
在系统安装时写入的 

C.
根据用户需求不同，由用户随时写入的 

D.
由程序临时写入的 

5、计算机病毒______ 

A.
是生产计算机硬件是不注意产生的 

B.
都是人为制造的 

C.
都必须清除计算机才能使用 

D.
有可能是人们无意中制造的 

6、已知英文字母m的ASCII码值为109，那么英文字母p的ASCII码值为 

A.
111 

B.
112 

C.
113 

D.
114 

7、字长16位的计算机，它表示______ 

A.
数以16位二进制数表示 

B.
数以16进制来表示 

C.
可处理16位字符串 

D.
数以两个8进制表示 

8、在Windows中，打开上次最后一个使用的文档的最直接途径是______ 

A.
单击"开始"按钮，然后指向"我最近的文档" 

B.
单击"开始"按钮，然后指向"查找" 

C.
单击"开始"按钮，然后指向"收藏" 

D.
单击"开始"按钮，然后指向"程序" 

9、在windows中，“任务栏”上的内容为______ 

A.
当前窗口的图标 

B.
所有已关闭窗口或应用程序图标 

C.
已启动并正在执行的程序名或窗口最小化后图标 

D.
已经打开的文件名 

10、在WINDOWS中，文件是指____________的总称。 

A.
用文字编辑器编写的文章 

B.
应用程序 

C.
设备 

D.
文档、应用程序、设备 

11、进入WORD的编辑状态后，进行中文标点符号与英文标点符号之间切换的快捷键是 

A.
Shift+空格 

B.
Shift+Ctrl 

C.
Shift+. 

D.
Ctrl+. 

12、在WINDOWS中打开一个窗口后，通常在其顶部是一个___________

A.
标题栏 

B.
任务栏 

C.
状态栏 

D.
工具栏 

13、当多个WINDOWS应用程序同时处于运行状态时，要想把前台活动窗口复制到剪贴板，应该使用____________键。 

A.
PrintScreen 

B.
Ctrl+ PrintScreen 

C.
Shift+ PrintScreen 

D.
Alt+ PrintScreen 

14、在WINDOWS资源管理器中选定了文件或文件夹后，若要将它们移动到不同驱动器的文件夹中，操作为___________

A.
按下CTRL键拖动鼠标 

B.
按下SHIFT键拖动鼠标 

C.
直接拖动鼠标 

D.
按下ALT键拖动鼠标 

15、在Windows中为了重新排列桌面上的图标，首先应进行的操作是______ 

A.
用鼠标右键单击桌面空白处 

B.
用鼠标右键单击"任务栏"空白处 

C.
用鼠标右键单击已打开窗口空白处 

D.
用鼠标右键单击"开始"空白处 

16、Windows系统中设置文件属性不可以的是_____ 

A.
只读 

B.
隐藏 

C.
保密 

D.
存档 

17、在WINDOWS中，控制计算机硬件配置和修改桌面布局的实用程序是_________

A.
资源管理器 

B.
我的电脑 

C.
控制面板 

D.
任务栏和开始菜单 

18、在Windows中，写字板和记事本所编辑的文档_____ 

A.
均可通过剪切、复制和粘贴与其他Windows应用程序交换信息 

B.
只有写字板可通过上述操作与其他Windows应用程序交换信息 

C.
只有记事本可通过上述操作与其他Windows应用程序交换信息 

D.
二者均不能与其他Windows应用程序交换信息 

19、退出Word的正确操作是______ 

A.
单击“文件”菜单中的“关闭”命令 

B.
单击文档窗口上的关闭窗口按钮× 

C.
单击“文件”菜单中的“退出”命令 

D.
单击Word窗口的最小化按钮 

20、在Word 编辑状态下，进行改变段落的缩进方式、调整左右边界等操作，最直观、快速的方法是利用______ 

A.
菜单栏 

B.
工具栏 

C.
格式栏 

D.
标尺 

21、在Word中"打开"文档的作用是______ 

A.
将指定的文档从内存中读入，并显示出来 

B.
为指定的文档打开一个空白窗口 

C.
将指定的文档从外存中读入，并显示出来 

D.
显示并打印指定文档的内容 

22、在Word的编辑状态，打开了“wl.doc”文档，若要将经过编辑后的文档以“w2.doc”为名存盘，应当执行“文件”菜单中的命令是______ 

A.
保存 

B.
另存为HTML 

C.
另存为 

D.
版本 

23、在Word中，要插入页眉和页脚，首先要切换到哪个视图方式下。 

A.
普通 

B.
页面 

C.
大纲 

D.
Web版式 

24、在Word的编辑状态中， 使插入点快速移动到当前行的开始的操作是_____ 

A.
PgUp 

B.
Ctrl+HOME 

C.
HOME 

D.
Sheft+home 

25、在word的编辑状态，连续进行了两次"插入"操作，当单击一次"撤消"按钮后 ______ 

A.
将两次插入的内容全部取消　 

B.
将第一次插入的内容全部取消 

C.
将第二次插入的内容全部取消　 

D.
两次插入的内容都不被取消 

26、在Word的编辑状态中，“粘贴”操作的组合键是______ 

A.
Ctrl+A 

B.
Ctrl+C 

C.
Ctrl+V 

D.
Ctrl+X 

27、在WORD的编辑状态,要在文档中添加符号"☆"，应该使用______菜单中命令 

A.
"文件"菜单 

B.
"编辑"菜单 

C.
"格式"菜单　 

D.
"插入"菜单 

28、在Word中，要将文档中一部分选定的文字的中、英文字体，字形，字号，颜色等各项同时进行设置，应使用______ 

A.
“格式”菜单下的“字体”命令 

B.
工具栏中的“字体”列表框选择字体 

C.
“工具”菜单 

D.
工具栏中的“字号”列表框选择字号 

29、在WORD编辑状态下，若要进行选定段落的段后间距的设置，应选择的操作是单击____________菜单项。 

A.
编辑/格式 

B.
格式/段落 

C.
编辑/段落 

D.
格式/字体 

30、在Word 的编辑状态中，对已经输入的文档设置首字下沉，需要使用的菜单是______ 

A.
编辑 

B.
视图 

C.
格式 

D.
工具 

31、在Word中，如果要使文档内容横向打印，在“页面设置”中应选择的标签是 

A.
页边距 

B.
文档网格 

C.
版式 

D.
纸张 

32、在Word中，若要计算表格中某行数值的总和，可使用的统计函数是______

A.
Sum() 

B.
Total() 

C.
Count() 

D.
Average() 

33、在Word编辑状态下，绘制一文本框，应使用的下拉菜单是______ 

A.
插入 

B.
表格 

C.
编辑 

D.
工具 

34、对于新安装的Excel,一个新建的工作簿默认具有____张工作表。

A.
1 

B.
2 

C.
3 

D.
255 

35、在Excel中，单元格地址是指_______

A.
每一个单元格 

B.
每一个单元格的大小 

C.
单元格所在的工作表 

D.
单元格在工作表中的位置 

36、在Excel中，选取整个工作表的方法是______ 

A.
单击“编辑”菜单的“全选”命令 

B.
单击工作表的“全选”按钮 

C.
单击A1单元格，然后按住SHIFT键单击当前屏幕的右下角单元格 

D.
单击A1单元格，然后按住CTRL键单击工作表的右下角单元格 

37、在Excel工作表的某单元格内输入数字字符串456，正确的输入方式是______

A.
456 

B.
｀456 

C.
=456 

D.
"456" 

38、在Excel中，给当前单元格输入数值型数据时，默认为_______

A.
居中 

B.
左对齐 

C.
右对齐 

D.
随机 

39、Excel不可以输入以下数据类型的数据

A.
数值型 

B.
文本型 

C.
日期型 

D.
性别型 

40、当向Excel工作表单元格输入公式时，使用单元格地址D$2引用D列2行单元格，该单元格的引用称为________

A.
交叉地址引用 

B.
混合地址引用 

C.
相对地址引用 

D.
绝对地址引用 

41、能够表现个体与整体之间关系的图表类型是________ 

A.
柱形图 

B.
条形图 

C.
饼图 

D.
折线图 

42、在Excel 工作薄中，对工作表不可以进行的打印设置是______ 

A.
打印区域 

B.
打印标题 

C.
打印讲义 

D.
打印顺序 

43、如果在大纲视图输入文本_______ 

A.
该文本只能在幻灯片视图中修改 

B.
既可以在幻灯片视图中修改文本，也可以在大纲视图中修改文本 

C.
只能在大纲视图用文本框移动文本 

D.
不能在大纲视图中删除文本 

44、PowerPoint的幻灯片浏览视图下，不能完成的操作是 

A.
调整个别幻灯片位置 

B.
删除个别幻灯片 

C.
编辑个别幻灯片内容 

D.
复制个别幻灯片 

45、PowerPoint提供了三种不同的放映方式，下列哪种不包含在其中_______

A.
演讲者放映（全屏幕） 

B.
观众自行浏览（窗口） 

C.
展台浏览（全屏幕） 

D.
自行设计浏览 

46、使用______下拉菜单中的“背景”命令改变幻灯片的背景。 

A.
格式 

B.
幻灯片放映 

C.
工具 

D.
视图 

47、PowerPoint中，设置幻灯片放映时的换页效果为"垂直百叶窗"，应使用"幻灯片放映"菜单下的选项是 

A.
动作按钮 

B.
幻灯片切换 

C.
动画方案 

D.
自定义动画 

48、当要改变一个演示文稿的幻灯片母板格式时 

A.
所有的非标题幻灯片均采用新母板格式 

B.
只有当前非标题幻灯片采用新母板格式 

C.
所有的剪贴画均丢失 

D.
默认字体将自动改变 

49、PowerPoint自定义动画中，不可以设置_____ 

A.
动画效果 

B.
顺序 

C.
批注 

D.
速度 

50、对于演示文稿中不准备放映的幻灯片可以用 _____下拉菜单中的“隐藏幻灯片”命令隐藏。 

A.
工具 

B.
幻灯片放映 

C.
视图 

D.
编辑 

答案：
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41~45:CCBCD  46~50:ABACB

2015秋季专升本高等数学模拟卷

一、函数（5题，共30分）

1、设函数[image: image1.png]f(x)



 的定义域为[0，1]，则 [image: image2.png]Jf(l+nx)



的定义域为 
A. [image: image3.png]



B. [image: image4.png]



C. [image: image5.png]



D. [image: image6.png]



2、设 [image: image7.png]3x+1

¥ = arcsin




；则该函数的定义域为
A. [image: image8.png]



B. [image: image9.png]



C. [image: image10.png]



D. [image: image11.png]



3、[image: image12.png]sw=1+1
<



, 那么[image: image13.png]Jfl-x=



 

A. [image: image14.png]1+x




B. [image: image15.png]



C. [image: image16.png]



D. [image: image17.png]1+2x




4、[image: image18.png]F2700+ fA-x=x% W fG)




A. [image: image19.png]fx)= %(x’ +2x-1)




B. [image: image20.png]Feo=x +2x-1




C. [image: image21.png]fx)= %(x’ —2x+1)




D. [image: image22.png]Feo=x—2x+1




5、下列函数是偶函数的是 

A. [image: image23.png]




 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image135(1).gif" \* MERGEFORMATINET [image: image24.png]xtan x




B. [image: image25.png]




 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image138.gif" \* MERGEFORMATINET [image: image26.png]cosxsin x




C. [image: image27.png]




 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image141.gif" \* MERGEFORMATINET [image: image28.png]x% +sin x




D. [image: image29.png]




 INCLUDEPICTURE "http://10.10.10.210/OnlineExam/Teacher/Files/Image/image144.gif" \* MERGEFORMATINET [image: image30.png]In{ x+~/x2 +1)




二、其他（15题，共120分）


6、[image: image31.png]2x* 432 427
=0 x5 4 7x3 —2x?





A. 2 

B. 0 

C. -2 
D. [image: image32.png]



7、[image: image33.png]2
tiy (1437)° =




A. 1 

B. [image: image34.png]



C. [image: image35.png]



D. [image: image36.png]



8、[image: image37.png]



A. 2 

B. [image: image38.png]



C. 1 
D. [image: image39.png]



9、已知[image: image40.png]


 ,则 [image: image41.png]


的值为  

A. [image: image42.png]



B. [image: image43.png]



C. [image: image44.png]a

=3k

=5




D. [image: image45.png]



10、设[image: image46.png]sinazx
S = 2x
In(l+x)+1,  x=0

x>0




 在[image: image47.png]


 连续，则[image: image48.png]


 ＝ 

A. 0 

B. 1 

C. 2 
D. 3

11、曲线[image: image49.png]


 在[image: image50.png]


 处的切线斜率为 

A. 3 

B. 6 

C. 1 
D. 0

12、函数[image: image51.png]y=@x+ 1"



 则[image: image52.png]



A. [image: image53.png]100(x+1)*




B. [image: image54.png](2x+1)*




C. [image: image55.png]1002z +1)*




D. [image: image56.png]50(2x+1)*




13、设[image: image57.png]Fi(cosx)=sin® x



 ,且[image: image58.png]Jy



 ,则 [image: image59.png]


＝  

A. [image: image60.png]



B. [image: image61.png]wl




C. [image: image62.png]x+l 4o
3




D. [image: image63.png]



14、[image: image64.png]2
[ et
1+ x°



＝ 

A. [image: image65.png]- %(ar:tan 0 +C




B. [image: image66.png](arctan x)* +C'




C. [image: image67.png]— (arctan x)* +C'




D. [image: image68.png]%(ar:tan 0 +C




15、[image: image69.png]sin ® xdx =





A. [image: image70.png]



B. [image: image71.png]15




C. [image: image72.png]15




D. [image: image73.png]



16、[image: image74.png]z="(x+y"-2y)



的极值点为

A. (0,0) 

B. [image: image75.png]



C. [image: image76.png]



D. 没有极值点

17、幂级数[image: image77.png]


 的收敛区间 

A. [image: image78.png]-1 3




B. [image: image79.png](-1, 3]




C. [image: image80.png]-1 3




D. [image: image81.png]



18、设 A是五阶方阵， [image: image82.png]l4=2



，则[image: image83.png]|-247



 ＝

A. 1/16 　　 

B. 16 

C. -16 　 
D. -1/16

19、A , B是五阶方阵，[image: image84.png]l4=2



 ，[image: image85.png]


 ,则 [image: image86.png]


＝ 

A. -1/2 

B. 1/2 

C. -2 
D. 2
20、矩阵[image: image87.png]-20

-2 4

2



 的秩为 

A. [image: image88.png]



B. [image: image89.png]



C. [image: image90.png]



D. [image: image91.png]



答案：

1 ~ 5: DDCAA  

6~ 10: ADBDC

10~15: ACBDC

16~20: CACAB
报名咨询：柯老师QQ：1319947063   张老师QQ：1852981488，联系电话：021-60541562

